








This question was quite poorly answered and had the lowest average mark in the 
paper. Most students were able to determine parts (a)(i) and (a)(ii), but the latter 
stages of (a) were poorly answered, in particular drawing a Magnel Diagram. In part 
(b) most students did not determine the value of Po correctly, as they ignored the 
contribution of the steel reinforcement. 









This question was generally very well answered, with the only area of difficulty being in the 
calculation of the reliability index and probability of failure.







This question was generally quite well answered, with (a)(i) being achievable by all 
candidates. Answers to following sections were often too brief, and in (b) there was a poor 
understanding of the carbon content associated with reused elements. Excellent responses 
were those that demonstrated knowledge beyond repetition of the content of the course 
handbook.
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